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QUESTION 1

Which three network addresses are reserved for private network use? (Choose three.) 

A. 10.0.0.0 

B. 172.15.0.0 

C. 172.31.0.0 

D. 192.162.24.0 

E. 192.168.255.0 

F. 224.192.0.0 

Correct Answer: ACE 

 

QUESTION 2

Match the command on the left with its use on the right. (Not all options are used.) 

Select and Place:

Correct Answer: 
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QUESTION 3

Refer to the exhibit. 

A network technician is unable to ping from R1 to R2. What will help correct the problem? 

A. Ensure that the serial cable is correctly plugged in to the interfaces. 

B. Apply the clock rate 56000 configuration command to the serial0/1 interface of R1. 

C. Configure the serial0/1 interfaces on R1 and R2 with the no shutdown command. 

D. Change the address of the serial0/1 interface of R1 to 192.1.1.4. 
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E. Change the subnet masks of both interfaces to 255.255.255.240. 

Correct Answer: A 

 

QUESTION 4

Refer to the exhibit. 

The network administrator is testing connectivity from the branch router to the newly installed application server. What is
the most likely reason for the first ping having a success rate of only 60 percent? 

A. The network is likely to be congested, with the result that packets are being intermittently dropped. 

B. The branch router had to resolve the application server MAC address. 

C. There is a short delay while NAT translates the server IP address. 

D. A routing table lookup delayed forwarding on the first two ping packets. 

E. The branch router LAN interface should be upgraded to FastEthernet. 

Correct Answer: B 

 

QUESTION 5

Refer to the exhibit. 

640-822 Practice Test | 640-822 Exam Questions | 640-822 Braindumps                                4 / 7

https://www.pass4lead.com/640-822.html
https://www.pass4lead.com/640-822.html
https://www.pass4lead.com/640-822.html


https://www.pass4lead.com/640-822.html
2022 Latest pass4lead 640-822 PDF and VCE dumps Download

640-822 Practice Test | 640-822 Exam Questions | 640-822 Braindumps                                5 / 7

https://www.pass4lead.com/640-822.html
https://www.pass4lead.com/640-822.html
https://www.pass4lead.com/640-822.html


https://www.pass4lead.com/640-822.html
2022 Latest pass4lead 640-822 PDF and VCE dumps Download

A small company with two locations has just connected the locations together with routers and a serial connection. The
routers are using RIP to learn the network topology. RouterB has learned a network from RouterA, but router RouterA is
not learning from RouterB. Using the output shown, what is the most likely problem? 

A. RIP routing is configured but not enabled on RouterA. 

B. One or more network statements are incorrect on RouterA. 

C. One or more network statements are incorrect on RouterB. 

D. The RIP versions on RouterA and RouterB are mismatched. 

E. RIP is an interior gateway protocol and cannot route for multiple network classes. 

Correct Answer: D 

640-822 Practice Test 640-822 Exam Questions 640-822 Braindumps

640-822 Practice Test | 640-822 Exam Questions | 640-822 Braindumps                                6 / 7

https://www.pass4lead.com/640-822.html
https://www.pass4lead.com/640-822.html
https://www.pass4lead.com/640-822.html
https://www.pass4lead.com/640-822.html
https://www.pass4lead.com/640-822.html
https://www.pass4lead.com/640-822.html


https://www.pass4lead.com/640-822.html
2022 Latest pass4lead 640-822 PDF and VCE dumps Download

To Read the Whole Q&As, please purchase the Complete Version from Our website.

Try our product !

100% Guaranteed Success
100% Money Back Guarantee
365 Days Free Update
Instant Download After Purchase
24x7 Customer Support
Average 99.9% Success Rate
More than 800,000 Satisfied Customers Worldwide
Multi-Platform capabilities - Windows, Mac, Android, iPhone, iPod, iPad, Kindle

We provide exam PDF and VCE of Cisco, Microsoft, IBM, CompTIA, Oracle and other IT Certifications.
You can view Vendor list of All Certification Exams offered:

https://www.pass4lead.com/allproducts

Need Help
Please provide as much detail as possible so we can best assist you.
To update a previously submitted ticket:

Any charges made through this site will appear as Global Simulators Limited.
All trademarks are the property of their respective owners.

Copyright © pass4lead, All Rights Reserved.

Powered by TCPDF (www.tcpdf.org)

640-822 Practice Test | 640-822 Exam Questions | 640-822 Braindumps                                7 / 7

https://secure.livechatinc.com/licence/8041871/v2/open_chat.cgi
http://www.tcpdf.org
https://www.pass4lead.com/640-822.html
https://www.pass4lead.com/640-822.html
https://www.pass4lead.com/640-822.html

